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0.0 0.53 0.50 0.50 0.13
20.0 20.0 054 | 10700 050 | 10.000( 050 | 10000 014 | 2.700
40.0 20.0 050 | 10400| 050 10000 050 10000 012 2600
60.0 20.0 049 | 9900| 050 10000 050 10000 012 2400
80.0 20.0 050| 9900| 050 10000 050 10000 012 2400
97.0 17.0 0.31| 6.885 050| 8500| 050| 8500| 009 1.785
103.0 0.31 0.50 0.50 0.09
106.0 3.0 048 | 1.185 050 | 1500|f 050 1500 011 0.300
I 48.970 50.000 50.000 12.185
97.0 0.41 0.50 0.80 0.09
103.0 6.0 058 | 2970| o050( 3000f 080 4800f 011 0.600
I E 2.970 3.000 4.800 0.600
& | 106.00 51.940 53.000 54.800 12.785
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i T
(i E el ETiTE ) =107.0 110.0 [ m
t =10cm
S R DY ETiTE ) =2.8 3.0 | m
t =4cm
ElAE AR DA B &k =53.0 53.0
t =10cm m?2
EHAE AR DA B & v =3. 835 4.0
t =4cm m?2
BEM TERE:  Asit 53. 0%0. 1+3. 835%0. 04 =5. 4534 5.0
L =7. 4Km m3
ColfuEL Xk & v 6. 7728 7.0
TR AL, m3
ColuL 1. 3056+0. 1702 =1. 4758 1.0
JIE 7y m3
BEM N C o (Z B =6. 7728 7.0
L =7. 4Km m3
BEMEWE  C o 7k (HERR) =1.4758 1.0
L =7. 4Km m3
il B H A TEHAEELY =51. 94 52.0
m3
7 1 i 51.94-12.785/0. 9 =37.73 38.0
4 tf8 L =2.0Km m3
B 5 A i i =37.73 38.0
m3
S A 0. 56%106. 0 =59. 36 59. 0
m?2
VU ¢ U 5.4534%2.3/1.8 =6. 968 7.0
A s 7% m3
A5y B 6.7728%2.5/1.8 =9. 406 9.4
C ok —RE m3
A5y B 1.4758%2.35/1. 8 =1.926 1.9
C o i m3
A T
Pt0.0~97.0  |HBREEASEG 2 7 ) — USRI =100. 0 100. 0
103.0~106. 0 [300%300%1000 m
2% LA t=10cm 0. 56%0. 1%100. 0 =5.6 5. 60
RC—40 (3% 0.56m3/10m4) m3
PR FrE UM =10 10
3007 L=0. 5m T-20 e
Pt97.0~103. 0|7/ L —F > ZEBKAIE RV - EHE =6. 0 6.0
300%300%2000 m
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2% B t=10cm 0. 56%0. 1%6. 0 =0. 336 0.336

RC—40 (% 0.56m3/10m4) m3
HMEC o t=10cm 0. 56%0. 1%6. 0 =0. 336 0. 336

18-8—25BB (% 0.56m3/10m4) m3
TR T. (0. 2%6. 0%2) + (0. 2%0. 56%2)  =2. 624 3.0

m?2
T L—F v 7 EREAS =6 6
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EEIR T

BERA TR TEHAEELY =12. 785 13.0

m3
TREEET t=44. 5cn(3 BfL L) | LEFHEHELD =50. 0 50. 0

RC—40 m2
TIERAE T t=57cm(3 @t b) | LEREHEELD =3.0 3.0

RC—40 m2
FEEET t=10cm TREFHEELY =54.8 55. 0

KA M-25 m2
FE T t=5cm i & v =53.0 53.0

PR As20F m2
FE T t=4em i & v =3. 835 4.0

AR As20F m2
X T A2 KR 106. 0 =106. 0 106. 0

W=0. 15m 1 9E#E SMalHR m




	数量総括表(一の宮).pdf
	数量総括表2(一の宮).pdf

